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405 XHarE St 13, 140 30,172 A17,032
01 ANASEFHSH] 13,140 30,172 AT17,032
OZ8 Zo| 2SII(BRS) 3,850,008 » 1) 3,850
O2AXNYXIZ Y 1,650,0008 * 1CH 1,650
SRR 50,0008 * 474 200
OEEInE=p] 220,0002 * 1} 220
OXHRENHE 500,008 * 24 1,000
ONKEI Ol 2 (25 X127171) 880,0008 * 10} 880
OMEHEH 2,000,000 * 17 2,000
M2 AL 1000002 * 170 100
OAUARES 1,000,000 * 2% 2,000
OLE L IRt 140,0002 * 671 840
04918 THIISITHHE2SA)
400,0002 * 174 400
NS YA (2] 95, 144 83,488 11,656
ol 2 | 4,200 4,200 0
021 2 bl (XHA) 4,200 4,200 0
203 YREY 4,200 4,200 0
EEV Y= =ES I 4,200 4,200 0
ORNEYYRETY| 350,008 * 122 4,200
o= 90,944 79,288 1,656
=2l (X)) 90,944 79,288 1,656
201 B2 18, 144 16,828 1,316
01 At 18, 144 16,828 1,316
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